MEARKF20IFEHZEMT4AEXZE

Tl BR RS & o) SME B S pas - pad
THERE (TLFh) 100021517105994 =3 98 82 180
THEE (TLHFha) 100021517105995 H= 130 70 200
TrRHERE (T 100021517106002 R 95 83 178
THEE (TI=Ehn) 100021517106008 W+ 122 71 193 TR
THEE (Tl=zhA) 100021517106010 T8y 128 77 205 IERTHE
TRHERE (T34 100021517106011 Ftk 127 84 211 IR ETHE
TrRHER (T 100021517106015 A& 107 60 167
ITRHEE (T 100021517106016 Z3L 110 70 180
TRHERE (TLHFA) 100021517106017 | i« 124 81 205
TREE (L) 100021517106018 (FRES 152 80 232 =AUt
TRHERE (TLHFA) 100021517106019 F+K 141 82 223 =R ATt
ITHEE (TW=FEA) 100021517106020 AL 150 79 229
TREE (TAZm) 100021517106021 JE+Ng 141 83 224 IRATH
THEE (TEhD) 100021517106022 S 137 72 209 =AUt
TRERE (TLFA) 100021517106023 SR+l 128 68 196 =AUt
THEE (TAEhD) 100021517106024 X« 133 85 218 =Rt
THEE (TIEhD) 100021517106025 4l 130 78 208 IRATH
ITHEE (T =FEA) 100021517106026 ol FE 161 85 246
TREE (T 100021517106027 SR+05 143 62 205 1R RTH
TREE (Tlzf) 100021517106030 B 148 81 229
TREE (TIhD) 100021517106031 EY 130 76 206 TR
THEE (TIEhD) 100021517106033 R 126 77 203 =AUt
TREE (T 100021517106036 Ci 141 80 221 TR
THEE (TIEhD) 100021517106037 b S2El 123 73 196 =AUt
TREE (T 100021517106038 B 156 82 238
TrHERE (TAFA) 100021517106039 R 156 69 225
TREERE (TAZ) 100021517106040 EE+FK 106 74 180 TR
THEE (TIFEM) 100021517106043 SxfE 122 78 200
TREERE (TAZ) 100021517106044 FESFAN 131 67 198 TR
THEE (TIFEM) 100021517106046 X% 151 83 234 =AUt
ITHERE (Tl=FhA) 100021517106047 a* 144 65 209
THEE (TIFEM) 100021517106052 S8 139 79 218 =AUt
TREERE (A=) 100021517106053 =+ 115 74 189 TR
THERE (TAFEA) 100021517106055 F« 125 72 197 =AUt




TrEHERE (TAZ) 100021517106056 Fx 155 80 235

ITHEE (Tl=FEhA) 100021517106059 gk * 110 75 185 TR
TrRHERE (T 100021517106061 o2 133 65 198

TRERE (W34 100021517106062 ZE+ 141 81 222 JERTHHE
THEE (TWFh) 100021517106063 iE* 155 50 205 [

TREE (Tl 100021517106065 Gl 138 55 193

TrEERE () 100021517106066 5 113 60 173 I2ETHE
THERE (TI=Ehn) 100021517106068 S+ 58 134 80 214 TRRTH
THEE (T F*h) 100021517106069 e S 123 58 181 =AUt
THEE (TV34) 100021517106071 X 139 87 226 AT
TrRHERE (TAZa) 100021517106072 R 134 66 200 ERTHE
THEE (TIEhD) 100021517106073 F+3E 116 62 178 =Rt
TRHERE (TLFA) 100021517106076 Fx 121 45 166

THERE (TAFEA) 100021517106078 H*5 109 77 186

TRHERE (TLFh) 100021517106079 e 147 81 228

THERE (TAFEA) 100021517106080 N 125 43 168

TrRERE (TAZ) 100021517106081 o=t 118 84 202 AT
THEE (TEhD) 100021517106083 g * 163 80 243 =Rt
TRHERE (TLFh) 100021517106084 | Eixx58 141 85 226 =R ATt
TREE (T 100021517106085 BR* 124 84 208

TrRERE (TAZa) 100021517106087 ZEx 162 53 215

TREE (Tl 100021517106088 F+R 137 88 225

TRERE (TLHFA) 100021517106089 BE+3E 121 89 210 TR
THEE (TAEhD) 100021517106090 X 118 84 202 =AUt
ITHEE (Tl=zha) 100021517106091 Tk 130 87 217

THERE (TAFEM) 100021517106094 Fx 120 50 170

TrRHERE () 100021517106115 [ 124 55 179 TR
TREE (Tl 100021517106121 Bk 112 74 186

ITHERE (Tl=FhA) 100021517106122 EE* 118 54 172

THEE (TI=hn) 100021517106126 75 120 59 179 =AUt
TREERE (TAZ) 100021517106129 Z5x 119 68 187

THEE (TI=hn) 100021517106132 Fx 106 72 178

TREERE (TAZ) 100021517106133 B+ 4 120 69 189 TR
TrERE () 100021517106135 Fx 122 68 190

TrEERE (A=) 100021517106139 T+ 118 60 178

TrEERE (M) 100021517106144 e 117 71 188




THER A1) 100021517106149 B 94 78 172 =AUt
TrRHERE =28 v 100021517106151 2B+ 116 74 190 =BT
TryEIE F4) 100021517106153 Bl 126 48 174

TryEIE = 4T) 100021517106158 JE 139 66 205

TryEIE F4) 100021517106159 BTIR 110 57 167

ITHER 2A40) 100021517106161 B« 110 69 179

TREE FAr) 100021517106163 i« 104 83 187 =AUt

RFEN
ITHEE 100021517106164 | 3kZ1fE 114 42 171 | &, A
3155

THEE 100021517106167 Stk 134 48 182 =AUt
ITHEE 100021517106169 ERETY 116 56 172 =AUt
ITREE 100021517106171 P S 109 57 166

TryEIE 100021517106176 38 128 71 199

TryEIE 100021517106177 $R+1E 124 70 194 IR
TryEIE 100021517106183 Fx 121 46 167

THER 100021517106187 RB+24 119 57 176 =R ATt
TryEIE 100021517106189 $+F 129 78 207

ITREE 100021517106190 L2 132 69 201

ITHER 100021517106193 XAy 116 75 191

ITHERE 100021517106194 F 3k 116 51 167

THE®E 100021517106195 TS 128 46 174

ITHEE 100021517106196 g« 111 66 177

ITHER 100021517106202 e 136 48 184 =AUt
ITHERE 100021517106204 2 107 76 183 TR
ITHEE 100021517106206 5k 103 78 181 =AUt
ITHERE 100021517106207 K 114 61 175 TR
THE®E 100021517106209 eSS 129 73 202 =AUt
TrEiE 100021517106214 B 123 88 211 TR
TryEIE 100021517106216 Tk 143 55 198 1R RTHE
ITHERE 100021517106218 FlE 108 65 173 TR
ITHEE 100021517106223 F+fF 139 74 213 =AUt
TrEiE 100021517106224 K 104 76 180 TR
THE®R 100021517106225 kit 146 77 223

ITHERE 100021517106226 X+ 35 137 45 182 TR
TryEIE 100021517106228 =g 130 61 191 1R
ITHERE 100021517106229 XU+, 90 79 169




THEE (TIFEA) 100021517106230 i« 114 56 170 =AUt
TREE (T 100021517106233 Zex 131 54 185 TR
TrEHERE () 100021517106235 [ 109 68 177
TREE (T=iD) 100021517106240 Bix 113 67 180 IRATH
THEE (TIFEA) 100021517106241 ME+& 112 53 165
ITHEE (TI=FEhA) 100021517106242 Rl 122 43 165
THEE (TIFEA) 100021517106243 £ 100 65 165
ITHEE (TIFEA) 100021517106248 BB 105 70 175 RRTH
THEE (TIFEA) 100021517106250 Ex 135 50 185
ITHEE (TIFEA) 100021517106251 X 131 74 205 RATH
TRHERE (TLHFA) 100021517106257 2R 153 84 237
TREE (TdZf) 100021517106258 PISN 152 84 236
TrRERE (TAZ) 100021517106265 §ih< B 123 65 188 I2ATH
THEE (TEhD) 100021517106266 T 132 76 208 =Rt
THERE (Tl=zha) 100021517106268 BEES 121 71 192 IEFTHE
TREE (TdZf) 100021517106269 X 130 72 202
TRHERE (TLFA) 100021517106270 1 164 66 230 =R ATt
THEE (TEhD) 100021517106282 8 120 50 170 =Rt
TrRHERE (TAZ) 100021517106286 ¥ 121 62 183 2RI
THEE (TAEhD) 100021517106288 [ 132 85 217 =AUt
ITHEE (Tl=zha) 100021517106289 Bk 132 80 212 TR
THEE (TIEhD) 100021517106291 e 143 85 228 =AUt
ITHERE (Tl=zhA) 100021517106293 B2 2 111 72 183
TrREE (L) 100021517106297 PSS 137 89 226
TrRERE (TAZa) 100021517106300 Ko 110 72 182
THEE (TIEhD) 100021517106302 T 120 81 201 =AUt
THERE (T=hn) 100021517106305 B3k 134 68 202 TR
THEE (TIEhD) 100021517106306 Ei 98 70 168
THEE (TIEM) 100021517106308 FhT 141 72 213 TRRTHE
THERE (TAFEA) 100021517106309 B 161 84 245 =AUt
ITHERE (Tl=FhA) 100021517106311 BN 132 74 206
THERE (TAFEA) 100021517106314 Hxfi 123 53 176 =AUt
THERE (T=hn) 100021517106316 e = 122 50 172 TRRTHE
THEE (TIEhD) 100021517106318 M+ 112 71 183
TrEERE (A=) 100021517106319 RS 128 58 186 TR
THEE (TEhD) 100021517106321 R 97 79 176




THEE (TWFh) 100021517106322 i« 146 87 233 =AUt
TREE (T 100021517106324 £ 120 79 199
TrRHERE (T 100021517106325 Fih<BA 103 62 165
ITHEE (TIFEA) 100021517106326 T 132 69 201 TR
THEE (TWFh) 100021517106328 X 144 72 216 =AUt
ITHEE (TI=FEhA) 100021517106329 ok * i 115 62 177
THEE (T F*h) 100021517106332 SE 128 52 180 =AUt
ITHEE (TIFEA) 100021517106334 R 122 57 179 TRRTH
THEE (T F*h) 100021517106335 B« 123 50 173 =AUt
ITHEE (TIFEA) 100021517106336 F 105 66 171 TR
TRHERE (TLHFA) 100021517106337 a7 108 64 172 =R ATt
THEE (TIEhD) 100021517106338 By 114 71 185 =Rt
TRHERE (TLFA) 100021517106340 B2 116 62 178
THEE (TEhD) 100021517106343 ZF 92 78 170 =Rt
TRHERE (TLFh) 100021517106344 &= 137 56 193 =R ATt
THEE (TEhD) 100021517106345 X« 130 72 202 =Rt
TRHERE (TLFA) 100021517106352 Ex 107 60 167
THEE (TEhD) 100021517106355 fif« 138 84 222 =Rt
TrRHERE (TAZ) 100021517106356 2y 120 70 190 IATH
TREE (T 100021517106360 =L 126 43 169
TrRERE (TAZa) 100021517106361 P8 108 66 174
THEE (TIEhD) 100021517106362 = 137 70 207 =AUt
TrRHERE () 100021517106363 )+ 3 146 61 207 TR
THEE (TAEhD) 100021517106370 X« 131 68 199 =AUt
TrRERE (TAZa) 100021517106373 Fx 144 83 227 TR
THERE (TAFEM) 100021517106374 & 95 71 166
ITHERE (Tl=zhA) 100021517106375 2o 137 70 207 =R ATt
THEE (TIEhD) 100021517106378 F 1 137 76 213 =AUt
TREERE (TAZ) 100021517106380 5K+ 150 63 213 TR
TRHER (TIFA) 100021517106381 Fi& 112 55 167
ITHERE (Tl=FhA) 100021517106384 X+ 113 73 186 TR
THEE (TIFEM) 100021517106386 X« 116 60 176
TREERE (TAZ) 100021517106387 SE+5E 125 57 182 TR
TrERE () 100021517106389 =N 119 66 185 1R
TrEERE (A=) 100021517106392 Z=+T 108 65 173
TrEERE (M) 100021517106394 25 128 42 170 1R




THEE (TIFEA) 100021517106395 i 112 54 166

ITHEE (Tl=FEhA) 100021517106396 KSR 113 71 184 TR
THEE (TIFEA) 100021517106398 BB 126 70 196 =AUt
TRERE (W34 100021517106401 = 119 51 170 IRETHE
THEE (TIFEA) 100021517106406 yI* 120 74 194 =AUt
ITRHEE (L) 100021517106409 i 105 63 168 [

THERE (T=hn) 100021517106411 i 132 62 194 =AUt
ITHEE (TIFEA) 100021517106412 L 131 59 190 TRRTH
THEE (T F*h) 100021517106413 IR 97 77 174 =AUt
ITRHEE (T 100021517106416 TRl 126 75 201 2 ATH
TRHERE (TLHFA) 100021517106418 Rk 108 61 169

THEE (TIEhD) 100021517106419 i 106 72 178 =Rt
TRHERE (TLFA) 100021517106420 RN 107 72 179 =R ATt
THEE (TEhD) 100021517106422 i 125 58 183 =Rt
TrRHERE (TAZ) 100021517106423 iRz 146 71 217 I2ATH
THEE (TEhD) 100021517106424 St A 121 83 204 =Rt
TRHERE (TLFA) 100021517106427 25w 137 66 203 =R ATt
THEE (TEhD) 100021517106430 Kz 129 56 185 =Rt
TRHERE (TLFh) 100021517106431 Fr 123 74 197 =R ATt
THEE (TAEhD) 100021517106432 i 142 78 220 =AUt
ITHEE (Tl=zha) 100021517106435 pUE 127 43 170 =AUt
THEE (TIEhD) 100021517106437 PN E 130 61 191 =AUt
ITHERE (Tl=zhA) 100021517106439 gk * 123 79 202 =R ATt
THEE (TAEhD) 100021517106440 i 138 70 208 =AUt
TrRERE (TAZa) 100021517106441 X +45g 144 70 214 IRATH
THEE (TIEhD) 100021517106442 FR*T 125 68 193 =AUt
TrRHERE () 100021517106444 = 117 63 180 1R
ITHERE (T 100021517106447 Fx 119 67 186 =AUt
ITHERE (Tl=FhA) 100021517106448 S 117 51 168

THERE (TAFEA) 100021517106451 T 125 77 202 =AUt
ITHERE (Tl=FhA) 100021517106453 =T 115 61 176

TrERE () 100021517106456 Fx 131 74 205

THERE (T=hn) 100021517106458 odd= 114 74 188 TRRTHE
THERE (TAFEA) 100021517106464 i 166 81 247 =AUt
TrEERE (A=) 100021517106467 el 126 59 185

THERE (TAFEA) 100021517106469 e« 114 71 185 =AUt




THEE (TWFh) 100021517106471 T« 149 65 214 =AUt
ITHEE (Tl=FEhA) 100021517106474 F+F 138 45 183
THEE (T F*h) 100021517106477 £+ 133 48 181 =AUt
ITHEE (TI=FEhA) 100021517106478 F« 116 79 195
TrRHER (TIFA) 100021517106479 )ik 138 53 191
ITRHEE (L) 100021517106480 Xjx=F 128 62 190
TrEERE () 100021517106485 afx 115 65 180 I2ETHE
ITHEE (Tl=FEhA) 100021517106487 e 111 55 166
THEE (T F*h) 100021517106490 Zex 131 54 185 =AUt
ITHEE (TI=FEhA) 100021517106491 e 123 61 184
TRHERE (TLHFA) 100021517106500 et 128 65 193
THEE (TIEhD) 100021517106502 T 134 65 199 =Rt
TrRERE (TAZ) 100021517106504 Fx 119 52 171 I2ATH
THEE (TEhD) 100021517106505 P 109 74 183 =Rt
TRHERE (TLFh) 100021517106506 e 131 49 180 =R ATt
TREE (TdZf) 100021517106507 2« 106 82 188
TRHERE (TLFA) 100021517106508 A 141 66 207 =R ATt
THEE (TEhD) 100021517106510 Sor & 128 86 214 =Rt
TrRHERE (TAZ) 100021517106515 F it 147 79 226 IATH
THEE (TAEhD) 100021517106516 B 140 49 189 =AUt
ITHEE (Tl=zha) 100021517106519 AT 151 70 221
TREE (Tl 100021517106520 #A 111 56 167
TrRHERE () 100021517106524 Bl 122 69 191
THERE (TAFEM) 100021517106526 R* 125 61 186
TrRERE (TAZa) 100021517106531 Fx 122 80 202 TR
THEE (TIEhD) 100021517106532 T 129 60 189 =AUt
TrRHERE () 100021517106533 P 112 55 167
ITHEE (TW=FEA) 100021517106534 S+{E 134 70 204
TREERE (TAZ) 100021517106537 EIRE= 139 86 225 TR
TrERE () 100021517106540 Gl 132 47 179 1R
TREERE (TAZ) 100021517106541 D 119 70 189 TR
THEE (TI=hn) 100021517106542 E+f7 107 75 182 1R
THERE (T=hn) 100021517106543 2 120 74 194
TrERE () 100021517106545 o 117 77 194 1R
TrEERE (A=) 100021517106546 e 125 49 174
TrEERE (M) 100021517106547 i« 141 64 205 1R




TrEHERE (TAZ) 100021517106549 Z5x 135 79 214
ITHEE (Tl=FEhA) 100021517106551 %15 127 78 205
THEE (TIFEA) 100021517106553 X 114 59 173 =AUt
ITHEE (TIFEA) 100021517106556 LR 128 65 193 TR
THEE (TIFEA) 100021517106561 FE 118 52 170
ITHEE (TI=FEhA) 100021517106563 i 126 51 177
THEE (TIFEA) 100021517106564 SRox 118 70 188 =AUt
ITHEE (Tl=FEhA) 100021517106565 X 132 57 189
THEE (TIFEA) 100021517106566 B+ 122 63 185
TRERE (T34 100021517106567 B 156 78 234 IERTHE
TRHERE (TLHFA) 100021517106568 Fr+ 117 71 188
THEE (TIEhD) 100021517106569 =% 135 65 200 =Rt
TRHERE (TLFA) 100021517106571 Frz 121 71 192 =R ATt
THEE (TEhD) 100021517106573 PURY 103 68 171 =Rt
TRHERE (TLFh) 100021517106576 i 95 84 179
THEE (TEhD) 100021517106580 Ehr 128 58 186 =Rt
TrRERE (TAZ) 100021517106588 R 123 65 188 I2ATH
THERE (TAFEA) 100021517106592 X« 125 73 198
TRHERE (TLFh) 100021517106596 i+ EB 119 73 192 TR
THERE (TAFEA) 100021517106602 AL 121 54 175
THEE (TIEA) 100021517106605 Fih* 109 70 179
THEE (TIEhD) 100021517106611 e 129 55 184 =AUt
ITHERE (Tl=zhA) 100021517106612 [E30S] 126 73 199 TR
TREE (T 100021517106613 W 128 63 191
ITHEE (Tl=zha) 100021517106614 I 116 59 175 TR
THEE (TIEhD) 100021517106615 i 102 81 183 =AUt
ITHERE (Tl=zhA) 100021517106617 Ak 138 64 202 TR
TREE (Tl 100021517106618 5+ 3L 100 69 169
TREERE (TAZ) 100021517106620 Z 140 78 218
THERE (TAFEA) 100021517106622 TR 120 83 203 =AUt
ITHERE (Tl=FhA) 100021517106627 G G 125 46 171
THERE (TAFEA) 100021517106628 o 154 73 227 =AUt
THERE (T=hn) 100021517106630 Fr 137 68 205
TREE (T 100021517106632 IR*7R 133 74 207 1R
THEE (TI=Ehn) 100021517106633 SerfE 151 72 223 TRRTH
THEE (TEhD) 100021517106634 FE 134 76 210




TrEHERE (TAZ) 100021517106635 [ 108 79 187 AT
TREE (T 100021517106636 24N 138 80 218 TR
TrEHERE () 100021517106637 21 151 78 229 IERTHE
THEE (TI=Ehn) 100021517106639 g 152 81 233 TR
THEE (TWFh) 100021517106640 Zex 130 63 193 =AUt
ITHEE (TI=FEhA) 100021517106642 X 114 54 168
TrRHER (TIFA) 100021517106644 =1 136 69 205
ITHEE (TIFEA) 100021517106645 Zx 143 65 208 TRRTH
THEE (T F*h) 100021517106647 SI*IT 135 65 200 =AUt
ITHEE (TIFEA) 100021517106649 HE 115 69 184 TR
TRHERE (TLHFA) 100021517106652 B 101 65 166
ITHEE (TW=FEA) 100021517106653 s+ 6 150 80 230
TrRERE (TAZ) 100021517106654 o i 132 55 187 AT
TREE (TAZf) 100021517106657 = 115 53 168
TrRHERE (TAZ) 100021517106658 Fox 121 76 197 ERTHE
TREE (TdZf) 100021517106663 B+ 133 63 196
TRHERE (TLFA) 100021517106664 =R 109 60 169
THERE (TAFEA) 100021517106666 1R 131 56 187
TRHERE (TLFh) 100021517106667 £ 127 58 185
TREE (T 100021517106669 TR 114 68 182 TR
TrRERE (TAZa) 100021517106672 fif+— 118 76 194
THEE (TIEhD) 100021517106674 Btz 126 68 194 =AUt
TrRHERE () 100021517106678 R+ 123 55 178 TR
THEE (TAEhD) 100021517106679 #E 129 74 203 =AUt
TrRERE (TAZa) 100021517106680 2=+ 128 63 191 TR
THERE (TAFEM) 100021517106684 il 104 73 177
TRERE (TLHFA) 100021517106685 G 114 63 177
THEE (TIEhD) 100021517106688 FH* 117 55 172 =AUt
TREERE (TAZ) 100021517106690 LZRYN 125 59 184 TR
TrERE () 100021517106692 ek 122 46 168
TREERE (TAZ) 100021517106694 EEs 133 71 204 TR
THEE (TIFEM) 100021517106696 KR+ % 120 47 167
ITHERE (Tl=FhA) 100021517106697 F& 154 71 225 TR
THERE (Thn) 100021517106698 W 141 87 228 =AUt
TrEERE (A=) 100021517106700 F+E 130 57 187
TrEERE (M) 100021517106702 25 105 64 169




THEE (TWFh) 100021517106706 5ik*H 135 68 203 =AUt
THEE (TI=Ehn) 100021517106713 Fr 143 87 230 RRTH
TrEHERE () 100021517106717 St — 162 78 240 1RATH
ITHEE (TIFEA) 100021517106720 EF] 130 56 186 TR
TrHERE () 100021517106721 £+ 142 77 219 1RAETH
TRERE (T34 100021517106724 pEe 128 66 194 IRETHE
TrEERE () 100021517106726 £ 150 91 241 1RATH
TRERE (T34 100021517106727 pUR 131 70 201 IRETHE
TrHERE () 100021517106729 At 127 68 195 1RATH
TRERE (T34 100021517106731 £ 142 45 187 RETHHE
THERE (Tl=zhA) 100021517106733 P = 141 50 191

THEE (TIEhD) 100021517106735 il 138 61 199 =Rt
TrRERE (TAZ) 100021517106736 FxF 133 71 204 I2ATH
THERE (TAFEA) 100021517106739 #=+JE 143 78 221 RAETHE
TrRHERE (TAZ) 100021517106740 A 106 60 166

THEE (TEhD) 100021517106744 =S 126 55 181 =Rt
TrRERE (TAZ) 100021517106748 =5 124 47 171

THERE (TAFEA) 100021517106749 B 140 61 201 RAETHE
TRHERE (TLFh) 100021517106752 e 131 54 185 =R ATt
THERE (TAFEA) 100021517106753 =)= 126 65 191

TrRERE (TAZa) 100021517106756 SE* 112 74 186 TR
TREE (Tl 100021517106760 RER 126 49 175 TR
TrRHERE () 100021517106761 e 149 61 210 2R
THEE (TAEhD) 100021517106762 73 127 54 181 =AUt
TrRERE (TAZa) 100021517106763 =L 132 48 180 TR
TREE (Tl 100021517106764 I 117 51 168

ITHERE (Tl=zhA) 100021517106765 pUE 126 44 170

THEE (TIEhD) 100021517106766 T 124 75 199 =AUt
THEE (TV34) 100021517106769 =3 132 55 187 AT
THEE (TIEhD) 100021517106770 o 123 51 174

ITHERE (Tl=FhA) 100021517106774 THR 136 53 189 FE

TrERE () 100021517106776 R 118 56 174 IRATH
ITHERE (Tl=FhA) 100021517106779 M+ 5 116 52 168

THEE (TIEhD) 100021517106780 fa]+ 2R 131 77 208 IRATH
TrEERE (A=) 100021517106781 g 132 75 207 IR ETHE
THEE (TEhD) 100021517106782 E+fY 111 72 183




THEE (TIFEA) 100021517106784 B 120 78 198 =AUt
TRHERE (TLHFA) 100021517106786 F Iy 126 70 196 TR
THEE (TIFEA) 100021517106787 o 159 79 238 =AUt
ITHEE (TIFEA) 100021517106788 i+ BF 112 73 185 RATH
TrHERE () 100021517106791 K 119 78 197 2RI
TRERE (T34 100021517106792 B 114 65 179 IERTHE
THEE (TIFEA) 100021517106793 BT 139 69 208 =AUt
ITHEE (TIFEA) 100021517106795 Z= 136 49 185 TRRTH
THEE (TIFEA) 100021517106797 Bx 118 63 181 =AUt
ITRHEE (T 100021517106801 o+ FH 110 69 179 2Rt
TRHERE (TLHFA) 100021517106802 A 117 52 169

THEE (TIEhD) 100021517106803 g 125 68 193 =Rt
TRHERE (TLFA) 100021517106804 Zf% 132 65 197

THEE (TEhD) 100021517106805 e 131 66 197 =Rt
TRHERE (TLFh) 100021517106812 AR+AR 134 69 203 =R ATt
THEE (TEhD) 100021517106814 T 130 49 179 =Rt
TRHERE (TLFA) 100021517106815 F 108 57 165

THEE (TEhD) 100021517106817 Fh* 125 59 184 =Rt
TrRHERE (TAZ) 100021517106821 y-a 129 61 190 AT
THEE (TAEhD) 100021517106823 S 166 74 240 =AUt
TrRERE (TAZa) 100021517106824 T 145 53 198 TR
TREE (Tl 100021517106827 FoF 123 76 199 TR
ITHERE (Tl=zhA) 100021517106828 0S5/ 118 61 179 =R ATt
THEE (TAEhD) 100021517106832 P 139 74 213 =AUt
ITHEE (Tl=zha) 100021517106833 s 124 52 176 =AUt
THEE (TIEhD) 100021517106834 i 142 58 200 =AUt
TrRHERE () 100021517106835 A% 134 82 216 TR
THEE (TIEhD) 100021517106836 I 153 74 227 =AUt
ITHERE (Tl=FhA) 100021517106839 T+ 124 58 182 TRRTHE
THERE (TAFEA) 100021517106841 o 110 84 194 =AUt
THERE (T=hn) 100021517106842 o S 124 53 177 TRRTHE
THERE (TAFEA) 100021517106843 SRox 124 52 176 =AUt
IHERE (TIFEA) 100021517106844 sk«fiB 144 78 222 TRRTHE
THERE (TAFEA) 100021517106845 XiJ* 37 115 60 175 =AUt
TrEERE (A=) 100021517106846 I8 117 82 199 TR
THERE (TAFEA) 100021517106847 &> 122 72 194 =AUt




TrEHERE (TAZ) 100021517106848 =1} 147 69 216 AT
TREE (T 100021517106850 B 141 65 206 TR
THEE (T F*h) 100021517106853 % 121 72 193 =AUt
ITRHEE (L) 100021517106857 T 121 91 212 2ATHE
THEE (TWFh) 100021517106858 B 140 64 204 =AUt
ITHEE (TI=FEhA) 100021517106859 gk * 132 68 200

TrEERE () 100021517106865 Fx 138 55 193 IERTHE
ITHEE (TIFEA) 100021517106867 2 134 75 209 TRRTH
THEE (T F*h) 100021517106868 FHyh 130 60 190 =AUt
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